## HPCL proposes to appoint Retail Outlet dealers in Himachal Pradesh, as per following details:

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Dimension (in M.)/Area of the site (in Sq. M.). *		Finance to be arranged by the applicant (Rs in Lakhs)		Mode of Selection	Fixed Fee / Minimum Bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)	
1	2	3	4	5	6 SC	7 CC / DC / CFS		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in Kls	SC CC-1 SC CC-2 SC PH ST ST CC-1 ST CC-2 ST PH OBC OBC CC-1 OBC CC-2 OBC PH OPEN OPEN CC-1 OPEN CC-2 OPEN PH	cc, 5c, C3	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding		
1	In or within 2 KMS of Village Jatanwala on Trilokpur Nahan Road	Sirmaur	Rural	120	SC	CFS	20	20	400	12	0	Draw of Lots	0	2
2	In or within 4KMs of Village Pungh - Sundernagar on NH-154 (Old NH-21A)	Mandi	Regular	150	OPEN	СС	20	20	400	25	10	Bidding	30	5
3	KM Stone 81 To 85, on Nahan-Paonta Sahib Road on NH-7 (Old NH No. NH-72)	Sirmaur	Regular	150	ОВС	DC	20	20	400	25	75	Draw of Lots	15	4
4	In or within 3KMs of Village Aut on NH 3 (Old NH-21A)	Mandi	Regular	200	SC	CFS	20	20	400	25	0	Draw of Lots	0	3
5	Between Awahdevi and Sarkaghat on NH-3	Mandi	Regular	150	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
6	Between Sabzi Mandi on Solan Bypass and intersection of Solan bypass with Rajgarh Road on NH-5 (Old NH-22)	Solan	Regular	200	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
7	In or within 3KMs of Village Babeli on NH-3	Kullu	Regular	200	OBC	DC	20	20	400	25	75	Draw of Lots	15	4
8	From KM Stone 77 to 80 on NH-3 on Amb - Kaloha Road	Una	Regular	200	SC	CFS	20	20	400	25	0	Draw of Lots	0	3
9	In or within 2 KMs of Village Kharooni on Road connecting Nalagarh to Baddi, NH-105 (Old NH-21A)	Solan	Regular	300	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
10	In or within 3 KMs of Village Jabli, towards Kalka on NH-5	Solan	Regular	300	OPEN	СС	20	20	400	25	10	Bidding	30	5
11	In or within 3KMs of Village Nerchowk on Nerchowk - Mandi Road	Mandi	Regular	150	OBC	DC	20	20	400	25	75	Draw of Lots	15	4
12	In or within 2KMs of Village Basal Patti on NH-5 (Old NH-22)	Solan	Regular	250	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
13	In or Within 3KMs of Village Kishanpura on NH-105	Solan	Regular	300	ST	CFS	20	20	400	25	0	Draw of Lots	0	3
14	KM Stone 65 to 70, on Sataun to Shillai road, NH-707 (Old NH No. 72-B)	Sirmaur	Regular	150	OBC	СС	20	20	400	25	10	Bidding	30	4
15	In or within 3KMs of Village Larji on NH-305	Mandi	Regular	200	OPEN CC 1	DC	20	20	400	25	75	Draw of Lots	15	5
16	In or within 3KMs of Village Kumarhatti on NH-5	Solan	Regular	250	OPEN	СС	20	20	400	25	10	Bidding	30	5
17	In & within 2 KMs of Thanakalan Village on Una Bangana Road	Una	Regular	150	SC	CFS	20	20	400	25	0	Draw of Lots	0	3
18	Within 2 KMs from Shillai on Shillai to Paonta Sahib Road on NH-707	Sirmaur	Regular	150	OBC	DC	20	20	400	25	75	Draw of Lots	15	4
19	Within 2 KMs from intersection near Baghed of NH-103 & New 4 Lane, on New 4 Lane towards Manali	Bilaspur	Regular	150	OPEN	сс	20	20	400	25	10	Bidding	30	5
20	KM Stone 42 to 45, on NH-103 (Old NH No. 88)	Bilaspur	Regular	150	OPEN	СС	20	20	400	25	10	Bidding	30	5
21	In or within 2 KMs of Village Patta on NH connecting Kiratpur to Bilsapur	Bilaspur	Regular	150	SC	CFS	20	20	400	25	0	Draw of Lots	0	3
22	On NH 503 (Extn) between KM Stone 8 to 11 on Mubarakpur to Una Road	Una	Regular	160	OBC	DC	20	20	400	25	75	Draw of Lots	15	4
23	In or within 2 KMs of Village Gara on NH-205	Bilaspur	Regular	150	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
24	In or within 4 KMs of Village Banjar on NH-305	Kullu	Regular	150	OPEN CC 2	DC	20	20	400	25	75	Draw of Lots	15	5
25	Within Municipal Limits of Kotkhai	Shimla	Regular	150	OBC CC 1	DC	20	20	400	25	75	Draw of Lots	15	4
26	In or within 3KMs of Village Panjhera on NH-105 (Old NH- 21A)	Solan	Regular	150	SC CC 1	CFS	20	20	400	25	0	Draw of Lots	0	3

	I		ı		ı		ı	ı			ı	T	ı	
27	KM Stone 304 to 307 on NH-5 (Old NH No. 22)	Shimla	Regular	150	OPEN	СС	20	20	400	25	10	Bidding	30	5
28	KM Stone 226 to 229, on Narkanda - Shimla Road, NH-5 (Old NH No. 22)	Shimla	Regular	150	OPEN	СС	20	20	400	25	10	Bidding	30	5
29	In or within 2KMs of Village Narla on NH-154	Mandi	Regular	150	OBC	DC	20	20	400	25	75	Draw of Lots	15	4
30	In or within 2KMs of Village Goal Jamala on NH-105 (Old NH- 21A)	Solan	Regular	150	SC	CFS	20	20	400	25	0	Draw of Lots	0	3
31	KM Stone 200 to 204, on Narkanda - Shimla Road, NH-5 (Old NH No. 22)	Shimla	Regular	150	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
32	Within 3 KMs from Paonta Sahib on Paonta Sahib to Dehradun Road on NH-7	Sirmaur	Regular	150	OPEN	СС	20	20	400	25	10	Bidding	30	5
33	Between KM Stone 28 to 31 on NH-503 (Extn)	Una	Regular	200	OBC	СС	20	20	400	25	10	Bidding	30	4
34	Between KM Stone No. 144 to 146 on Hamirpur to Kot on NH in Village Salakhar	Hamirpur	Regular	200	OPEN	СС	20	20	400	25	10	Bidding	30	5
35	In or within 2 KM from Village Souri Gujjran on NH-105 (Old NH 21A)	Solan	Regular	150	ST	CFS	20	20	400	25	0	Draw of Lots	0	3
36	Between KM Stone No. 55 to 57 on Dramman to Nurpur on NH	Kangra	Regular	170	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
37	Upto 5 KM from Himachal Border on Kala Amb to Nahan Road on NH-7	Sirmaur	Regular	150	OBC	DC	20	20	400	25	75	Draw of Lots	15	4
38 39	On Kangra Bypass Road In or within 3 KMs of Village Kotli on NH-3	Kangra Mandi	Regular Regular	150 150	OPEN CC 1 SC	DC CFS	20	20	400	25 25	75 0	Draw of Lots  Draw of Lots	15 0	3
40	Between KMs 168 to 171 on NH-05	Shimla	Regular	150	OBC	DC	20	20	400	25	75	Draw of Lots	15	4
41	Between KM Stone No. 20 to 23 on Una to Amb Road on NH-	Una	Regular	150	OPEN	СС	20	20	400	25	10	Bidding	30	5
	503 (Extn)	Olla	regulai	130	OPEN		20	20	400	23	10	bluding	30	
42	In Village Chak Gageri between Village Jaise to Gajeri on Theog Hatkoti Road	Shimla	Regular	150	OPEN	сс	20	20	400	25	10	Bidding	30	5
43	In or within 3 KMs of Village Ghumarvin on NH-103	Bilaspur	Regular	150	OBC	DC	20	20	400	25	75	Draw of Lots	15	4
44	Upto 5 km from Shillai on Shillai to Timbi Road	Sirmaur	Regular	150	ST	CFS	20	20	400	25	0	Draw of Lots	0	3
45	In or between KM Stone 47 to 50 on Barsar Bhota National Highway	Hamirpur	Regular	150	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
46	Between Mandi Jail and Talyahar on Road connecting Mandi to Kotli on NH-3	Mandi	Regular	250	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
47	From Bankahndi to Dehra on NH	Kangra	Regular	150	OBC	DC	20	20	400	25	75	Draw of Lots	15	4
48	Kaloha to Nadaun on NH, between KM Stone 104 to 110 on NH-03	Kangra	Regular	150	SC	CFS	20	20	400	25	0	Draw of Lots	0	3
49	Within 2 KM from Badripur Chowk towards Shillai on NH-707	Sirmaur	Regular	150	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
50	In or within 3 KMs of Village Anni on NH-305	Kullu	Regular	150	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
51	From Mubrakpur to Bharwain on NH-503	Una	Regular	150	OBC PH	DC	20	20	400	25	75	Draw of Lots	15	4
52	Upto 3 KMs from Brahampukhar Bus Stand towards Namhol, on NH-205 (Old NH No. 88)	Bilaspur	Regular	150	SC PH	CFS	20	20	400	25	0	Draw of Lots	0	3
53	Village Dolowal on road connecting Nalagarh to Panjera	Solan	Regular	150	OPEN	СС	20	20	400	25	10	Bidding	30	5
54	Between KM Stone No. 13 to 17 on Una to Amb NH-503 Extn.	Una	Regular	150	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
55	In or within 3 KMS of Sarahan on NH-907A	Sirmaur	Regular	150	OBC	DC	20	20	400	25	75	Draw of Lots	15	4
56	Within 3 KMs from Brahmpukhar Bustand towards Nauni	Bilaspur	Regular	150	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
57	Within 3 Kms of Patlikuhal Bus Stand on NH-3	Kullu	Regular	150	SC	CFS	20	20	400	25	0	Draw of Lots	0	3
58	In or within 2KMs of Village Thalaut on NH-3	Mandi	Regular	165	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
59	In & within 2 KMs of Kamlota between Nadaun to Jwalamukhi on NH-303	Kangra	Regular	150	OBC	DC	20	20	400	25	75	Draw of Lots	15	4
60	Within 3 KMs of Nalagarh Bus Stand on NH-105	Solan	Regular	300	OPEN	СС	20	20	400	25	10	Bidding	30	5
61	In or within 2 KMs of Village Bali Chowki on NH-305	Mandi	Regular	150	ST	CFS	20	20	400	25	0	Draw of Lots	0	3
62	Kullu Bye-Pass Road (NH-3)	Kullu	Regular	200	OBC	DC	20	20	400	25	75	Draw of Lots	15	4
63	In or within 2KMs of Village Katrain on Kullu to Manali Road	Kullu	Regular	150	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
64	Awahdevi temple to Tauni Devi Temple on NH-03	Hamirpur	Regular	150	OPEN CC 1	DC	20	20	400	25	75	Draw of Lots	15	5
65	From Kandhwaal Barrier to KM Stone 30 on NH-154	Kangra	Regular	170	OBC	DC	20	20	400	25	75	Draw of Lots	15	4

			D I	450		crc			400	25	•	Draw of Lots		
66	Between KM Stone 100-104 on NH-03 In or within 2KMs of Village Salwara on NH-5	Kangra	Regular Regular	150 300	SC OPEN	CFS	20	20	400	25	10	Bidding	30	3
68	In or within 2KMs of Village Bhud on Nalagarh - Baddi Road (NH-105)	Solan	Regular	300	OPEN	СС	20	20	400	25	10	Bidding	30	5
69	In or within 4 KMs of Village Kunihaar	Solan	Rural	120	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
70	Within 2 KMs of Bhalt Village on Barsar to Shatalai Road	Hamirpur	Rural	100	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
71	In & between Ajouli Village to Santosh Garh on Nangal to Santokhgarh Road Via Himachal Entry Toll Tax Barrier	Una	Rural	130	SC	CFS	20	20	400	12	0	Draw of Lots	0	2
72	In or within Village Bhog on Shoghi - Mehli Road, MDR-13	Shimla	Rural	90	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
73	Within 1 KM of Indora Tehsil's SDM Office on Indora Kathgarh Road	Kangra	Rural	125	OPEN	СС	20	20	400	12	5	Bidding	10	4
74	Village Kapari Gala on Chamba Tissa Road on MDR	Chamba	Rural	80	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
75	Within 2 KMs from Tahliwal Police Station Building on Tahiwaal - Palakwah Road	Una	Rural	80	SC	CFS	20	20	400	12	0	Draw of Lots	0	2
76	In and within 2 KMs in Village Sayar on Jabal Ranikotla Link Road	Bilaspur	Rural	120	OPEN	СС	20	20	400	12	5	Bidding	10	4
77	In Village Maganpura on Road connecting Nalagarh to Ropar	Solan	Rural	140	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
78	Within 1 KM of Dari Bypass on Road connecting GPO Dharamshala to Yol Cantt.	Kangra	Rural	120	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
79	Within 1 KM of Tyasar on tyassar to Kodra Link Road	Una	Rural	70	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
80	Within 5 KMs of Recong Peo on Recong Peo Powari Road	Kinnaur	Rural	150	ST	CFS	20	20	400	12	0	Draw of Lots	0	2
81	Within 5 KMs from Mehli on Shoghi - Mehli Road, MDR-13	Shimla	Rural	90	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
82	In or within 3 KMs of Village Ramshehar	Solan	Rural	75	OPEN CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
83	Between Km Stone 25 & 27 in Village Alampur on Road connecting Sujanpur to Thural	Kangra	Rural	100	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
84	Within 2 KMs of HP PWD Office Building of Village Laluwaal on Tahiwaal - Laluwaal Road	Una	Rural	120	sc	CFS	20	20	400	12	0	Draw of Lots	0	2
85	From Tahilwal to Bhathu on Tahliwal Garshankar Main Road	Una	Rural	110	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
86	In & within 1 KM of Village Pubowaal on Jajjon to Una Main Road	Una	Rural	85	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
87	Village Lalsinghi within 3 KMs from DC Office on Old Hoshiyyarpur Road	Una	Rural	80	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
88	In & within 4 KMs of Village Lahri Bahti on Bakloh to Sihuntaa Main Road	Chamba	Rural	70	SC	CFS	20	20	400	12	0	Draw of Lots	0	2
89	Within 3 KMs of Govt. Senior Secondary School, Village Takka on Una to Dhamandri Road	Una	Rural	70	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
90	In Village Palakh on Talwara to Indora MDR 42	Kangra	Rural	80	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
91	Within 3 KMs from Dadahu towards Nahan on Dadahu Nahan Road	Sirmaur	Rural	100	OPEN CC 2	DC	20	20	400	12	30	Draw of Lots	5	4
92	Within 2 KMs of Sansarpur Village	Kangra	Rural	75	OBC CC 1	DC	20	20	400	12	30	Draw of Lots	5	3
93	In or between Rait to Dharamshala on Main Road	Kangra	Rural	110	SC CC 1	CFS	20	20	400	12	0	Draw of Lots	0	2
94	In Village Sallewal on Road connecting Nalagarh to Bharatgarh	Solan	Rural	140	OPEN	СС	20	20	400	12	5	Bidding	10	4
95	Within 1 KM of Dadh Village on Dharamshala to Palampur Road via Nagri	Kangra	Rural	120	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
96	From Himachal Border to Ajouli Village on Nangal Santokhgarh Road	Una	Rural	120	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
97	Within 2 KM from Punjab Border in Village Gondpur Jaichand on Dulehar to Garh Shankar Road	Una	Rural	80	SC	CFS	20	20	400	12	0	Draw of Lots	0	2
98	Between KM Stone 24 to 28 on MDR-77	Shimla	Rural	100	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
99	Within 3 KMs of Nirmand Bus Stand	Kullu	Rural	85	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4

												1		
100	In or within 4 KMs of Village Dhang Nichli on Road connecting Nalagarh and Ghanouli	Solan	Rural	120	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
101	Within 1 KM of Tanda Medical College on Road Connecting Ranital to Kangra	Kangra	Rural	100	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
102	In or within 2 KMs of Village Tandi	Lahaul & Spiti	Rural	110	ST	CFS	20	20	400	12	0	Draw of Lots	0	2
103	Village Ghati on Solan Sabathu Road	Solan	Rural	70	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
104	In Village Haripur on Una to Bangaana Road	Una	Rural	110	ОВС	DC	20	20	400	12	30	Draw of Lots	5	3
105	Between Anni & Rowa	Kullu	Rural	110	OPEN CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
106	Between KM Stone 40 to 44, on Sainj - Solan Road	Shimla	Rural	100	SC	CFS	20	20	400	12	0	Draw of Lots	0	2
107	Village Sadwan on Nurpur to Lahru Main Road	Kangra	Rural	100	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
108	Within 2 KMs from Bangran Chowk towards Puruwala Road	Sirmaur	Rural	120	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
109	Within 4 KMs of Kathgarh Shiv Madir on Kathgarh Indora Road	Kangra	Rural	100	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
110	Between KM Stone No. 18 to 20 on Gopalpur to Chamunda Road	Kangra	Rural	100	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
111	In or within 3 KMs of Village Rewalsar on MDR-26	Mandi	Rural	120	ST	CFS	20	20	400	12	0	Draw of Lots	0	2
112	In or within 2 KM from Koti Villaage	Chamba	Rural	110	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
113	From BSNL Office Palampur to SSB Camp on Palampur Dharamshala MDR	Kangra	Rural	120	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
114	From Bassal to Baba Rudranand Ashram via Rudra International School Road	Una	Rural	70	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
115	Between KM Stone 18 to 21 on Road connecting Tathera to Una	Una	Rural	90	SC	CFS	20	20	400	12	0	Draw of Lots	0	2
116	Between KM Stone 78 and 81 on MDR-76	Mandi	Rural	70	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
117	From Daultpur Nagar Panchyat Office to Mubrakpur Chowk on Talwara Mubrakpur Main Road	Una	Rural	100	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4